What relationships do you see here?

/,—\ Relationships amongst the signs

(x+h)2=x2+bx+c

1)
(x+6)% £[x2+12x + 36 - ., o oo & Alwenys, +
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2l uls And c is always L
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(x—7) £|x*> — 14x + 49
(x+ 8)? =|x? + 16x + 64
(x—5)? =|x?> —10x + 25

2 2 i Fill in the missing values.
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Fill in the missing values. (x et XTe 2nd: 2(/¢)
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of b , ,
- 10u+25 = x ~(3 RN

1st: Jo



Fill in the missing values. (x+h2=x2+bx+c
2nd: (b/2)2 . :
Relationships between b and ¢

X2 - 22x+r1 = (X -1 )?
Tst b2 b=7 ij
2nd: (b/2)? ( 5 ) . , I \()/_\25
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1st: b/2

(X+h2=x2+bx+c (x+h)?=x+ bx*c
Relationships between h and c Relationships between h and b

n= X< h=’li

2 __ =)
(x—5)2 =x%—10x 425 (x—5)? =x2-10x+25

b=Z‘L\

c= L)L



Fill in the blanks

2nd: (b72)
1. X2 +20x+ LoD =(x +_ 1] )?

1st: b/2

2nd: (b
2. x-4ax+_ M = (X — X~ )2
S~ w7

This is called "Completing the Square."

In general, to complete the square:

X° + 16X + 64 = (X + 8)?

x? +bx + (%) :(er%)2
1st

The constant in the trinomial
is half of b, squared: (b/2)?

)

(x—5)? =x* -0k +25
ax® +bx +c

The constant in the parentheses
is half of b: b/2

Complete the square for each.
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1. X¥-2x +\ = (x=- | )

1st: b/

n
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2. X2+50x+425 = (X +295 )

st: b/2
[/m\
2_3 g - R—éZ
3. X X‘I'l{ = )

1st: b/2



Expand. (2x + 5)2 Find the value of k so that the trinomial will factor into (x - h)2.

u[ i Give the value of h also.
x4 ZOX +25 This is called a perfect square trinomial.

9x? - kx + 49 = (ax - h)?
hx 23x-71)°

You can now finish Hwk #19. Sec 5-7
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Problems 7-12, 42, 43, 46, 47



